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1. BmBFELIIRKA: RTU-R10022')—X BRI -3 — K347
2. EHBEDIELE: 5 5 RX—X :RHB-E750B-1P (2{&)
3. HERFETT
(1) BRI
D28 E & M (ke) (K] M=| 192 |kg
QKBTS W (kN) (E/KEF) W=M x 9.80665/1000=| 1.88 |kN
QT 2R DHEZEDIE: L (cm) L=| 474 |cm
@B THARDBEERECMIE : Lg(cm) Le=| 194 |cm
GOHBOEDLES hgl(cm) he=| 1025 |[cm
(2) B S &R
OEBE = M (kg) Me=| 147 |ke
QEMEEE W (kN) We=M; X 9.80665/1000=| 1.44 |kN
QBT HIHRADEBERS L-(cm) Le=| 740 |cm
@EBESE he(cm) he=[ 120 |[cm
4. MEFE
(D EREFTRAKEERE Ky Ky=| 04
(2)ERETASRBEEE Ky Ky=12%xK,=| 02

NKEBIRITA-aBATELDBIEND
() REEHFE—AVF:A(kN-cm)

A= (1K) *((Lg+ (LeL) /2)¥W+ (Le/2)*We) =] 91.9  [kN+om

(4)B5fBlE— A2k :B(kN-cm)
B=Ky*((he+he)¥W+ (he/2)¥We) =] 89.7  [kN+om

XLI=M>T. J. A>B
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